Sub:-English
Class:-9(a+b)
Task1of unit2
Topic:- lesson-3 Budgeting your Time.

Question/Answers
Q1. Why is money considered so important?

Ans. It is said that money makes the mare go. That is why money is considered important.

Q2. What do people believe about the power of money?
Ans. They believe that the power of money is great.

Q3. Does time wait for anyone?
Ans No .time does not wait for anyone.

Q4. What type of precious moment should not be lost?
Ans. There is a sometimes a moment that can make or mar person's whole future .Such
moment is precious it should not be e lost.

Q5. What do we mean by saying:-Art is long and time is fleeting?
Ans. Art here means the work that one has to do to one's life. Man has a lot of work to do to
in his life but the time with him is running out fast.

Q6.Which Is the most important time for doing something?
Ans. The present is the most important time to do anything.

Q7. Why must one be punctual?
Ans. An opportunity once missed is lost for ever. Time once lost can never be
regained.Therefore,one must be punctual.

Q8. Is it useful to cry over the spilt milk or blame our stars for our failures?
Ans . No .it's useless to do so so if we are ourselves responsible for our failure.

Q9. What should be the guiding principle of our life and why?
Ans." Now or never"should be the guiding principle of our life . Time is always fleeting. We
should never put off till tomorrow what we can do today.

Q10. Why is the budgeting of time important?

Ans. We have very limited time at our disposal. But the work we have to do is very long . Life
today has become very fast. Every moment it has become precious therefore the budgeting
of time is important
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Exercise 4.1
Question 1:
The cost of a notebook is twice the cost of a pen. Write a linear equation in two variables to represent this
statement. (Take the cost of a noteboolk to be ¥ x and that of a pen to be ¥ y).
#_ Answer 1:
Here, the cost of notebook = ¥ x  and the costofpen=Ty
According to guestion, Cost of notebook = 2 = Cost of Pen
= x =2y =x—=2y=0

Question 2:

Express the following linear equations in the form ax + by = ¢ = 0 and indicate the values of a, b and cin each
case:

(i) Zx+ 3y =935 (ii) x— é —10=0 [iii) -2x+3y=6 [iv) x =3y

(v) 2x = -5y (vi) 3x+2=10 (vii)y—2=10 (viii) 5 = 2x

#. Answer 2:

(i) 2x+ 3y =935

= 2x+3y-935= ~

Hence, herea = 2, b= 3 and ¢ = —9.35.

(i) x-*-10=0
.
=:~:c'—gy— 10 =0
Hence, herea = 1, b= — é and ¢ = —10.

(iii) =2x+ 3y =46
= =2x+3y—-6=10
Hence, herea = -2, b =3 and ¢ = —6,

[iv] x = 3y
=x=3v+0=0
Hence, herea =1, h= =3 and ¢ = (0.

(v) 2x = =5y
=2x+5v+0=10
Hence, herea = 2, b= 5and ¢ = (.

(vi) 3x+2=10
=23x+0y+2=0
Hence, herea =3, h=0and ¢

(vii)Jy—-2=10
=0x+l1ly—-2=10
Hence, herea =10, h = land ¢
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(viii) 5 = 2x
=2x+0y—5=10
Hence, herea =2, h=0and ¢ = —5.

Scanned with CamScanner



Scanned with CamScanner



